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LEBANESE AMERICAN UNIVERSITY
DEPARTMENT OF COMPUTER SCIENCE AND MATHEMATICS
MTH 201 - Calculus 111

Exam-I,Fall 2012

Duration: 60 minutes

INSTRUCTIONS: This exam consists of 8 pages and 6 problemé. Check that none is missing.
Answer the questions in the space provided for each problem; if more space is needed, you may use
the back pages. To recewve full credits, you have to justify your answers.

Student’s Name:

Student’s ID:

Select your instructor and section
(a) Dr. Hamdan: (b) Dr. Issa MWF

(c)Dr. Issa T-TR  (d) Dr. Touma

Grading scheme
(Keep it empty)

Question 1 /10
Question 2 /14
Question 3 /25
Question 4 /14
Question 5 /30
Question 6 /7
Total /100




Problem 1: (10%) Evaluate the following integrals
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Problem 2: (14%) Evaluate the following improper integrals

[atege Epre s ophas |

o d-’—:
= e e = T

AU #
- = Sw&w> = 3]V e
(4+4) s -
N\ogm )A = Yo &;j_?:’____-——————j
- ~'\3
I S_l/ e Ao e UL o (o R
b_/') g b——’)@
= EN e
Ly A= L Yoo S
5 Aode 2 alel= 0t ol
L >
At Qut (- =)="T 2
e, LAl = - ©
' L
%‘;,*1%@,& a




Problem 3: (25%) Determine if each of the following improper integrals converges or diverges.
Justify your answer and precise the test you used.
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Problem 4: {14%) Find the limit of each of the following sequences.
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Problem 5: (30%) Find the sum (if it exists) of each of the following infinite series
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Problem 6: (7%) Show that 0.9 =1
0.2 = 049
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